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QUESTION 1

A customer is expanding an ONTAP 9.4 switchless 2-node FAS2750 cluster. Two AFF A220 nodes will be added to the
cluster. In addition to the cluster nodes, what else is required to perform the cluster expansion? 

A. Additional management switches are required. 

B. An upgrade to ONTAP 9.5 is required. 

C. Cluster switches are required. 

D. Additional DS224C shelves are needed. 

Correct Answer: A 

 

QUESTION 2

You are asked to configure a small environment for a branch office. The customer has two new VMware ESXI hosts and
a Netapp FAS2750 for the site. They want to allocate 10 GB for their ISCSI network to 

be used for datastores. However, they do not want to purchase any new switches for the environment. In this scenario,
Which statement is correct? 

A. The SMB protocol will need to be used 

B. 10 GB switches are required for this configuration 

C. The environment will have to be configured with 1 GB networking 

D. Configure direct attached connections between the two hosts and storage 

Correct Answer: D 

Direct-attachment 

In a direct-attached configuration, one or more hosts are directly connected to the controllers. 

You can find more information on this link: 

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sanconf%2FGUID-193CC377-5C6F-4D3C-B42E-CE71AB6AA77F.html 

 

QUESTION 3

You have deployed a FAS8300 system and wait to enable SAN protocols. In this scenario, which two protocols are
available to serve SAN data? (Choose two) 

A. Infiniband 

B. ISCSI 
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C. NVMe 

D. FCP 

Correct Answer: BD 

 

Graphical user interface You can find more information on this link:
https://hwu.netapp.com/Resources/Posters/POSTER-NA-380-1019.pdf?tag=8070 

 

QUESTION 4

Referring to the exhibit, what happens when you change the type for port 1a from target to initiator? 

A. The port type for 1a changes to initiator, and you must reboot the controller for the changes to take effect. 

B. You receive an error message that you must take ports 1a and 1b offline before you can change the type. 

C. B. You receive an error message that you must take the port 1a offline before you can change the type. 
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D. The port type for 1a and 1b changes to initiator, and you must reboot the controller for the changes to take effect. 

Correct Answer: A 

 

QUESTION 5

What are two considerations when creating a physical reference drawing for adding an ASA AFF A700 system to your
existing FC SAN environment? (Choose two) 

A. available cooling 

B. Hardware Compatibility 

C. available rack space 

D. switch connectivity 

Correct Answer: CD 

A physical reference drawing should be used to know the rack space and the distance between that space and the
equipment to which it will be connected ... Being an ASA, it must be connected to a SAN switch 
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